

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: July 18, 2022

Progress Estin	Progress Estimate Number 4		cate Number Contract ID Prime Contract		220121-A01 Phillips Hardy, Inc.	Pay Period Start Pay Period End	July 1, 2022 July 15, 2022	Original Contract Amount Net Change Order Amount Current Contract Amount	\$10,968,845.83 \$0.00 \$10,968,845.83
Approval Date									
July 19, 2022			Generated and Appro	oved (and should be	considered Dra	ft) at the Project Office Level by	veerj1		
July 19, 2022		Rev	iewed and Approved	(and should be cons	idered Draft) at	the Resident Engineer Level by	jacobl		
July 20, 2022			Revie	ewed and Approved	at the Central C	Office Controllers Office Level by	ramses1		
Original Comp	letion Date	Current Compl	etion Date	Actual Completion	al Completion Date % of Current Contract Amo				
November	1, 2023	November 1	, 2023			8.13%			

	Contract Informational Date	tes	Milestones
Date Description	Original Completion Date	Current Completion Date	No Milestones Exist for Contract
Acceptance Date			
Awarded Date	February 2, 2022	February 2, 2022	
Letting Date	January 21, 2022	January 21, 2022	
Notice to Proceed Date	April 4, 2022	April 4, 2022	
Open to Traffic Date			
Work Began Date			

Contract Total Pay For Estimate No. 4									
		This Estimate	Previous	To Date					
220121-A01									
	Total Posted Items Pay	\$502,072.35	\$389,167.89	\$891,240.24					
	Gross Item Adjustments	\$58,209.66	(\$68,462.60)	(\$10,252.94)					
	Incentive	\$0.00	\$0.00	\$0.00					
	Disincentive	\$0.00	\$0.00	\$0.00					
	Liquidated Damage	\$0.00	\$0.00	\$0.00					
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00					
	•		\$320,705.29	\$880,987.30					
Contract Total Paya	ble This Estimate:	\$560,282.01							

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description Unit Unit Price Current Installed Qty								
J1P3379	0010	2013000	CLEARING AND GRUBBING	ACRE	\$2,200.000	6.8	\$14,960.00				
	0020	2022010	REMOVAL OF IMPROVEMENTS	LS	\$82,500.000	0.1	\$8,250.00				
	0030	2031000	CLASS A EXCAVATION	CUYD	\$8.300	6,135	\$50,920.50				
	0050	2036000	COMPACTING EMBANKMENT	CUYD	\$3.350	4,196	\$14,056.60				
	0800	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	SQYD	\$14.000	82	\$1,148.00				
	0090	3105002	GRAVEL (A) OR CRUSHED STONE (B)	TONS	\$35.000	49.17	\$1,720.95				
	0100	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	TONS	\$89.000	756.47	\$67,325.83				
	0110	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	TONS	\$107.320	1,014.55	\$108,881.51				
	0120	4071005	TACK COAT	GAL	\$1.000	168	\$168.00				
	0330	6181000	MOBILIZATION	LS	\$824,000.000	0.25	\$206,000.00				
	0470	7250336A	36 IN. PIPE GROUP B	LF	\$166.000	78	\$12,948.00				
	0540	7320836A	36 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END SECTION	EA	\$1,400.000	4	\$5,600.00				
	0620	8061019	SILT FENCE	LF	\$1.290	7,824	\$10,092.96				
Project J1P3	3379 - Total						\$502,072.35				
Overall - To	tal						\$502.072.35				

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Revision 4/1/2020 Page 1 of 10

\$58,209.66



Total

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: July 18, 2022

Prog	ress Es	timate Number 4	Contract I		121-A01 lips Hardy, Inc.	Pay Period Start Pay Period End	July 1, 2022 July 15, 2022	Net Chan	Contract Amo ge Order Amo Contract Amo	ount \$0.0	\$10,968,845.83 \$0.00 \$10,968,845.83	
Project Number	Line No.	Item Descrip	otion	Adjustment Type	Other Item Adjustment Type	Co	omments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount	
J1P3379	0030	CLASS A EXC	CAVATION	Price	•		em Price Adjustr nent Type applie		540	\$0.36	\$194.40	
	0030	CLASS A EXC	CAVATION	Price	•		em Price Adjustr nent Type applie		600	\$0.36	\$216.00	
	0030	CLASS A EXC	CAVATION	Price	•		em Price Adjustr nent Type applie		1,650	\$0.36	\$594.00	
	0030	CLASS A EXC	CAVATION	Price	•	Reference Item Price Adjustment Index Adjustment Type applied is FUEL			555	\$0.36	\$199.80	
	0030	CLASS A EXC	CAVATION	Price	•		em Price Adjustr nent Type applie		1,140	\$0.36	\$410.40	
	0030	CLASS A EXC	CAVATION	Price	•		em Price Adjustr nent Type applie		1,650	\$0.36	\$594.00	
	0050		MPACTING ANKMENT	MaterialCredi	t				8,439	\$3.35	\$28,270.65	
	0800	TYPE 1 AGGREG BASE (4	GATE FOR IN. THICK)	Price	•		em Price Adjustr nent Type applie		82	\$0.27	\$22.14	
	0800	TYPE 1 AGGREG BASE (4	GATE FOR IN. THICK)	MaterialCredi	t				3,092	\$14.00	\$43,288.00	
	0800	TYPE 1 AGGREG BASE (4	GATE FOR IN. THICK)	Materia	I				-3,174	\$14.00	(\$44,436.00	
	0100	BITUMINOUS P MIXTURE PG64		Price			em Price Adjustr nent Type applie		756.47	\$5.98	\$4,520.66	
	0100	BITUMINOUS P MIXTURE PG64		Other Item Adjustmen			gin AC Mix II 02.5 226.2	O Adj			\$6,161.45	
	0110	BITUMINOUS P MIXTURE PG64-		Price	•		em Price Adjustr nent Type applie		1,014.55	\$5.98	\$6,062.15	
	0110	1		Other Item Adjustmen			gin AC Mix II 02.5 226.2	O Adj			\$8,263.51	
	0370	TEMPORARY RE MARKING T		MaterialCredi	t				150	\$2.15	\$322.50	
	0380	TEMPORARY RE MARKING T		MaterialCredi	t				1,640	\$2.15	\$3,526.00	

Revision 4/1/2020 Page 2 of 10



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information	1			
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work			
J1P3379	FAF 159-1(16)	Pavement improvements	159	HOLT	from the Missouri River, n	near Rulo, NE, to Little Tark	io Creek, near Fortescue			
J1P3432	FAF 159-1(17)	Pavement improvements	159	HOLT	from Route 111 n/o Forest City to Little Tarkio River					
J1S3380	FAS S102(20)	Pavement improvements	111	HOLT	from 1 mile west of Route 118 to Route 118					
Totals by .	Job Numbe	rs								
J1P3379	Posted Item Pay Gross Item Adjustments Gross Item Pay Incentive				This Estimate \$502,072.35 \$58,209.66 \$560,282.01	Previous \$377,197.89 (\$68,462.60) \$308,735.29	To Date \$879,270.24 (\$10,252.94) \$869,017.30			
	Disinc Liquid		tments		\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00			
J1P3432		d Item Pay Item Adjustmer	nts Gross I	tem Pay	This Estimate \$0.00 \$0.00 \$0.00	Previous \$11,970.00 \$0.00 \$11,970.00	To Date \$11,970.00 \$0.00 \$11,970.00			
			tments		\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00			
J1S3380		d Item Pay Item Adjustmer	nts Gross I	tem Pay	This Estimate \$0.00 \$0.00 \$0.00	Previous \$0.00 \$0.00 \$0.00	To Date \$0.00 \$0.00 \$0.00			
			ments		\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00			

Revision 4/1/2020 Page 3 of 10



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J1P3379, Item 3040143, Project Item Line Number 0080, Material Set 304014396, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	The contractor credo (22QMPHI014) is missing several pieces of information. Materials has informed Jacob McFail of the shortcomings.	veerj1	Acknowledged

Revision 4/1/2020 Page 4 of 10



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	eport Generated date and can differ from the posted amo Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
220121-A01	J1P3379	0001	0010	2013000	CLEARING AND GRUBBING	10.00	0.00	10.00	ACRE	7.30	\$2,200.00	\$16,060.00
		0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.40	\$82,500.00	\$33,000.00
		0001	0030	2031000	CLASS A EXCAVATION	63,353.00	0.00	63,353.00	CUYD	18,924.00	\$8.30	\$157,069.2
		0001	0040	2035500	EMBANKMENT IN PLACE	5,176.00	0.00	5,176.00	CUYD	0.00	\$0.01	\$0.0
		0001	0050	2036000	COMPACTING EMBANKMENT	32,236.00	0.00	32,236.00	CUYD	13,220.00	\$3.35	\$44,287.0
		0001	0060	2063000	CLASS 3 EXCAVATION	1,353.00	0.00	1,353.00	CUYD	250.00	\$29.50	\$7,375.0
		0001	0070	3021311	STABILIZED PERMEABLE BASE (4IN. THICK)	111.00	0.00	111.00	SQYD	0.00	\$35.00	\$0.0
		0001	0080	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	4,798.00	0.00	4,798.00	SQYD	3,174.00	\$14.00	\$44,436.0
		0001	0090	3105002	GRAVEL (A) OR CRUSHED STONE (B)	2,020.00	0.00	2,020.00	TONS	874.90	\$35.00	\$30,621.5
		0001	0100	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	9,340.30	0.00	9,340.30	TONS	756.47	\$89.00	\$67,325.8
		0001	0110	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	14,844.50	0.00	14,844.50	TONS	1,014.55	\$107.32	\$108,881.5
		0001	0120	4071005	TACK COAT	7,428.00	0.00	7,428.00	GAL	168.00	\$1.00	\$168.00
		0001	0130	6097000	ROCK LINING	106.00	0.00	106.00	CUYD	0.00	\$70.00	\$0.00
		0001	0140	6099902	MISC.GRID TIED MAT GROUND ANCHOR TYPE 1	16,274.00	0.00	16,274.00	EA	0.00	\$47.50	\$0.00
		0001 0150 6099902		6099902	MISC.GRID TIED MAT GROUND ANCHOR TYPE 2	4,552.00	0.00	4,552.00	EA	0.00	\$53.00	\$0.0
		0001	0160	6099903	MISC.GRID TIED MAT ANCHOR BLOCK	27,266.00	0.00	27,266.00	LF	0.00	\$23.50	\$0.00
		0001	0170	6119905	MISC.GRID TIED CONCRETE BLOCK MAT	73,911.30	0.00	73,911.30	SQYD	0.00	\$38.00	\$0.00
		0001	0180	6122014	IMPACT ATTENUATOR 60 MPH (SAND BARREL ARRAY)	6.00	0.00	6.00	EA	0.00	\$4,500.00	\$0.0
		0001	0190	6122020	REPLACEMENT SAND BARREL	25.00	0.00	25.00	EA	0.00	\$1,500.00	\$0.00
		0001	0200	6122030	IMPACT ATTENUATOR (RELOCATION)	12.00	0.00	12.00	EA	0.00	\$4,500.00	\$0.0
		0001	0210	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$1.00	\$0.0
		0001	0220	6142027	36 IN. OR 900 MM AUTO FLOODGATE (TYPE 2)	1.00	0.00	1.00	EA	0.00	\$6,000.00	\$0.00
		0001	0230	6161005	CONSTRUCTION SIGNS	1,639.00	0.00	1,639.00	SQFT	568.50	\$7.00	\$3,979.5
		0001	0240	6161008	ADVANCED WARNING RAIL SYSTEM	8.00	0.00	8.00	EA	5.00	\$45.00	\$225.0
		0001	0250	6161025	CHANNELIZER (TRIM LINE)	230.00	0.00	230.00	EA	165.00	\$13.00	\$2,145.0
		0001	0260	6161030	TYPE III MOVEABLE BARRICADE	11.00	0.00	11.00	EA	7.00	\$145.00	\$1,015.0
		0001	0270	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	4.00	0.00	4.00	EA	4.00	\$5,000.00	\$20,000.0
		0001	0280	6162000A	WORK ZONE TRAFFIC SIGNAL SYSTEM	3.00	0.00	3.00	EA	2.00	\$38,000.00	\$76,000.00
		0001	0290	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	12.00	0.00	12.00	EA	0.00	\$950.00	\$0.0
		0001	0300	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	4.00	0.00	4.00	EA	0.00	\$1,850.00	\$0.0
		0001	0310	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	564.00	0.00	564.00	LF	0.00	\$25.50	\$0.0
		0001	0320	6175010A	RELOCATING TEMPORARY TRAFFIC BARRIER	1,128.00	0.00	1,128.00	LF	0.00	\$9.50	\$0.0
		0001	0330	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.25	\$824,000.00	\$206,000.0
		0001	0340	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	4.00	0.00	4.00	EA	0.00	\$600.00	\$0.0
		0001	0350	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	24.00	0.00	24.00	LF	0.00	\$22.00	\$0.0
		0001	0360	6200033	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	2.00	0.00	2.00	EA	0.00	\$550.00	\$0.0
		0001	0370	6205301B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., WHITE	37,320.00	0.00	37,320.00	LF	150.00	\$2.15	\$322.5
		0001	0380	6205303B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., YELLOW	6,000.00	0.00	6,000.00	LF	1,640.00	\$2.15	\$3,526.0
		0001	0390	6205320	TEMPORARY REMOVABLE MARKING TAPE, 12 IN., WHITE	66.00	0.00	66.00	LF	0.00	\$14.00	\$0.0
		0001	0400	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	56,638.00	0.00	56,638.00	LF	0.00	\$0.15	\$0.0
		0001	0410	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	12,496.00	0.00	12,496.00	LF	0.00	\$0.15	\$0.0
		0001	0420	6207001	PAVEMENT MARKING REMOVAL	43,386.00	0.00	43,386.00	LF	480.00	\$0.65	\$312.00
		0001	0430	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,767.00	0.00	1,767.00	SQYD	0.00	\$4.10	\$0.00
		0001	0440	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	505.70	0.00	505.70	STA	0.00	\$30.00	\$0.00

Page 5 of 10 Revision 4/1/2020



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

RACT Project	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See repor generated date)
)1 J1P3379	0001	0450	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.20	\$10,000.00	\$2,000
	0001	0460	7250330A	30 IN. PIPE GROUP B	93.00	0.00	93.00	LF	0.00	\$140.00	\$0
	0001	0470	7250336A	36 IN. PIPE GROUP B	338.00	0.00	338.00	LF	78.00	\$166.00	\$12,948
	0001	0480	7250348A	48 IN. PIPE GROUP B	385.00	0.00	385.00	LF	104.00	\$184.00	\$19,136.
	0001	0490	7250415	15 IN. PIPE GROUP C	62.00	0.00	62.00	LF	62.00	\$65.00	\$4,030.
	0001	0500	7250436	36 IN. PIPE GROUP C	404.00	0.00	404.00	LF	0.00	\$120.00	\$0.
	0001	0510	7320030A	30 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	2.00	0.00	2.00	EA	0.00	\$1,260.00	\$0.
	0001	0520	7320036A	36 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	10.00	0.00	10.00	EA	0.00	\$1,400.00	\$0.
	0001	0530	7320048A	48 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	10.00	0.00	10.00	EA	2.00	\$2,200.00	\$4,400.
	0001	0540	7320836A	36 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END SECTION	21.00	0.00	21.00	EA	4.00	\$1,400.00	\$5,600.
	0001	0550	7322030A	BEVELED PIPE END TREATMENT FOR 30 IN. OR ALLOWED SUBSTITUTE PIPE	2.00	0.00	2.00	EA	0.00	\$1,325.00	\$0.
	0001	0560	8051000A	SEEDING - COOL SEASON GRASSES	36.00	0.00	36.00	ACRE	0.00	\$1,500.00	\$0.
	0001	0570	8061004	SEDIMENT TRAP ROCK	44.00	0.00	44.00	CUYD	0.00	\$130.00	\$0.
	0001	0580	8061005	ROCK DITCH CHECK	380.00	0.00	380.00	LF	0.00	\$14.90	\$0.
	0001	0590	8061006	ALTERNATE DITCH CHECK	42.00	0.00	42.00	LF	0.00	\$10.00	\$0.
	0001	0600	8061016	SEDIMENT REMOVAL	375.00	0.00	375.00	CUYD	0.00	\$20.00	\$0.
	0001	0610	8061017	TEMPORARY SEEDING	28.80	0.00	28.80	ACRE	0.00	\$800.00	\$0.
	0001	0620	8061019	SILT FENCE	34,180.00	0.00	34,180.00	LF	13,055.00	\$1.29	\$16,840.
	0010	0630	6061060	MGS GUARDRAIL	88.00	0.00	88.00	LF	0.00	\$32.00	\$0.
	0010	0640	6066400	GUARDRAIL, RELOCATED AND MODIFIED	1,786.00	0.00	1,786.00	LF	0.00	\$24.00	\$0.
	0040	0650	9031270A	2 IN. PSST POST - 12 GA.	66.00	0.00	66.00	LF	0.00	\$12.00	\$0.
	0040	0660	9031271	POST ANCHOR FOR 2 IN. PSST - 12 GA.	15.00	0.00	15.00	LF	0.00	\$21.00	\$0.
	0040	0670	9039902	MISC.REMOVE AND RESET SIGNS	42.00	0.00	42.00	EA	0.00	\$275.00	\$0.
Proiect		otal Value	Posted to D	late as of Report Generated Date							\$887,703.
J1P343		0680	4091048	EMULSIFIED ASPHALT, SEAL COAT	19,867.00	0.00	19,867.00	GAL	0.00	\$2.25	\$0.
	0001	0690	4094011	SEAL COAT AGGREGATE, GRADE B1	66,223.00	0.00	66,223.00	SQYD	0.00	\$1.36	\$0.0
	0001	0690 0700	4094011 6123000A	SEAL COAT AGGREGATE, GRADE B1 TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	66,223.00	0.00	66,223.00	SQYD	0.00	\$1.36 \$1.00	
				TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) FURNISHING AND PLACING BITUMINOUS MATERIAL FOR							\$0.
	0001	0700	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$1.00	\$0. \$0.
	0001	0700	6123000A 6133020	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	2.00	0.00	2.00	EA	0.00	\$1.00 \$95.00	\$0. \$0.
	0001 0001 0001	0700 0710 0720	6123000A 6133020 6133021	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	2.00 2,321.40 5,276.00	0.00	2.00 2,321.40 5,276.00	EA TONS	0.00	\$1.00 \$95.00 \$2.25	\$0. \$0. \$0. \$1,440.
	0001 0001 0001 0001	0700 0710 0720 0730	6123000A 6133020 6133021 6161005	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR CONSTRUCTION SIGNS	2.00 2,321.40 5,276.00 575.00	0.00 0.00 0.00	2.00 2,321.40 5,276.00 575.00	EA TONS SQYD SQFT	0.00 0.00 0.00 160.00	\$1.00 \$95.00 \$2.25 \$9.00	\$0. \$0. \$0. \$1,440.
	0001 0001 0001 0001 0001	0700 0710 0720 0730 0740	6123000A 6133020 6133021 6161005 6161025	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR CONSTRUCTION SIGNS CHANNELIZER (TRIM LINE) CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR	2.00 2,321.40 5,276.00 575.00 36.00	0.00 0.00 0.00 0.00	2.00 2,321.40 5,276.00 575.00 36.00	EA TONS SQYD SQFT EA	0.00 0.00 0.00 160.00	\$1.00 \$95.00 \$2.25 \$9.00 \$13.00	\$0. \$0. \$1,440. \$130.
	0001 0001 0001 0001 0001	0700 0710 0720 0730 0740	6123000A 6133020 6133021 6161005 6161025 6161098A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR CONSTRUCTION SIGNS CHANNELIZER (TRIM LINE) CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00 2,321.40 5,276.00 575.00 36.00 2.00	0.00 0.00 0.00 0.00 0.00	2.00 2,321.40 5,276.00 575.00 36.00 2.00	EA TONS SQYD SQFT EA EA	0.00 0.00 0.00 160.00 10.00 2.00	\$1.00 \$95.00 \$2.25 \$9.00 \$13.00 \$1,500.00	\$0. \$0. \$1,440. \$130. \$3,000.
	0001 0001 0001 0001 0001 0001	0700 0710 0720 0730 0740 0750	6123000A 6133020 6133021 6161005 6161025 6161098A 6162004	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR CONSTRUCTION SIGNS CHANNELIZER (TRIM LINE) CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED TEMPORARY SHORT-TERM RUMBLE STRIPS	2.00 2,321.40 5,276.00 575.00 36.00 2.00	0.00 0.00 0.00 0.00 0.00 0.00	2.00 2,321.40 5,276.00 575.00 36.00 2.00	EA TONS SQYD SQFT EA EA	0.00 0.00 0.00 160.00 10.00 2.00	\$1.00 \$95.00 \$2.25 \$9.00 \$13.00 \$1,500.00	\$0 \$0 \$1,440 \$130 \$3,000 \$7,400
	0001 0001 0001 0001 0001 0001	0700 0710 0720 0730 0740 0750	6123000A 6133020 6133021 6161005 6161025 6161098A 6162004 6181000 6206000C	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR CONSTRUCTION SIGNS CHANNELIZER (TRIM LINE) CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED TEMPORARY SHORT-TERM RUMBLE STRIPS MOBILIZATION 4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING	2.00 2,321.40 5,276.00 575.00 36.00 2.00 4.00	0.00 0.00 0.00 0.00 0.00 0.00	2.00 2,321.40 5,276.00 575.00 36.00 2.00 4.00	EA TONS SQYD SQFT EA EA LS	0.00 0.00 0.00 160.00 10.00 2.00 4.00	\$1.00 \$95.00 \$2.25 \$9.00 \$13.00 \$1,500.00 \$1,850.00 \$55,000.00	\$0.1 \$0.4 \$1,440.1 \$130.1 \$7,400.1 \$0.1
Project	0001 0001 0001 0001 0001 0001 0001 000	0700 0710 0720 0730 0740 0750 0760 0770 0780	6123000A 6133020 6133021 6161005 6161025 6161098A 6162004 6181000 6206000C	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR CONSTRUCTION SIGNS CHANNELIZER (TRIM LINE) CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED TEMPORARY SHORT-TERM RUMBLE STRIPS MOBILIZATION 4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS 4 IN. YELLOW STANDARD WATERBORNE PAVEMENT	2.00 2,321.40 5,276.00 575.00 36.00 2.00 4.00 45,118.00	0.00 0.00 0.00 0.00 0.00 0.00 0.00	2.00 2,321.40 5,276.00 575.00 36.00 2.00 4.00 1.00 45,118.00	EA TONS SQYD SQFT EA EA LS	0.00 0.00 0.00 160.00 10.00 2.00 4.00 0.00	\$1.00 \$95.00 \$2.25 \$9.00 \$13.00 \$1,500.00 \$1,850.00 \$55,000.00 \$0.15	\$0. \$0. \$1,440. \$130. \$7,400. \$0.
Project J1S3380	0001 0001 0001 0001 0001 0001 0001 000	0700 0710 0720 0730 0740 0750 0760 0770 0780	6123000A 6133020 6133021 6161005 6161025 6161098A 6162004 6181000 6206000C	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR CONSTRUCTION SIGNS CHANNELIZER (TRIM LINE) CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED TEMPORARY SHORT-TERM RUMBLE STRIPS MOBILIZATION 4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS 4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	2.00 2,321.40 5,276.00 575.00 36.00 2.00 4.00 45,118.00	0.00 0.00 0.00 0.00 0.00 0.00 0.00	2.00 2,321.40 5,276.00 575.00 36.00 2.00 4.00 1.00 45,118.00	EA TONS SQYD SQFT EA EA LS	0.00 0.00 0.00 160.00 10.00 2.00 4.00 0.00	\$1.00 \$95.00 \$2.25 \$9.00 \$13.00 \$1,500.00 \$1,850.00 \$55,000.00 \$0.15	\$0. \$0. \$1,440. \$130. \$3,000. \$7,400. \$0. \$1,970.
	0001 0001 0001 0001 0001 0001 0001 000	0700 0710 0720 0730 0740 0750 0760 0770 0780 0790	6123000A 6133020 6133021 6161005 6161025 6161098A 6162004 6181000 6206000C 6206001C	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR CONSTRUCTION SIGNS CHANNELIZER (TRIM LINE) CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED TEMPORARY SHORT-TERM RUMBLE STRIPS MOBILIZATION 4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS 4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS ate as of Report Generated Date	2.00 2,321.40 5,276.00 575.00 36.00 2.00 4.00 1.00 45,118.00 5,663.00	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	2.00 2,321.40 5,276.00 575.00 36.00 2.00 4.00 1.00 45,118.00 5,663.00	EA TONS SQYD SQFT EA EA LS LF	0.00 0.00 160.00 10.00 2.00 4.00 0.00 0.00	\$1.00 \$95.00 \$2.25 \$9.00 \$13.00 \$1,500.00 \$1,850.00 \$55,000.00 \$0.15	\$0. \$0. \$0. \$1,440. \$130. \$3,000. \$7,400. \$0. \$0. \$51,970.
	0001 0001 0001 0001 0001 0001 0001 000	0700 0710 0720 0730 0740 0750 0760 0770 0780 0790 0tal Value	6123000A 6133020 6133021 6161005 6161025 6161098A 6162004 6181000 6206000C 6206001C Posted to D	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR CONSTRUCTION SIGNS CHANNELIZER (TRIM LINE) CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED TEMPORARY SHORT-TERM RUMBLE STRIPS MOBILIZATION 4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS 4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS ate as of Report Generated Date REMOVAL OF IMPROVEMENTS	2.00 2,321.40 5,276.00 575.00 36.00 2.00 4.00 4.00 45,118.00 5,663.00	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00	2.00 2,321.40 5,276.00 575.00 36.00 2.00 4.00 1.00 45,118.00 5,663.00	EA TONS SQYD SQFT EA EA LS LF LF	0.00 0.00 0.00 160.00 10.00 2.00 4.00 0.00 0.00	\$1.00 \$95.00 \$2.25 \$9.00 \$13.00 \$1,500.00 \$55,000.00 \$0.15 \$0.15	\$0. \$0. \$1,440. \$130. \$7,400. \$0. \$0. \$0. \$0.
	0001 0001 0001 0001 0001 0001 0001 000	0700 0710 0720 0730 0740 0750 0760 0770 0780 0790 stal Value 0800 0810	6123000A 6133020 6133021 6161005 6161025 6161098A 6162004 6181000 6206000C 6206001C Posted to D 2022010 2031000	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR CONSTRUCTION SIGNS CHANNELIZER (TRIM LINE) CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED TEMPORARY SHORT-TERM RUMBLE STRIPS MOBILIZATION 4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS 4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS ate as of Report Generated Date REMOVAL OF IMPROVEMENTS CLASS A EXCAVATION	2.00 2,321.40 5,276.00 575.00 36.00 2.00 4.00 1.00 45,118.00 5,663.00	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00	2.00 2,321.40 5,276.00 575.00 36.00 2.00 4.00 1.00 45,118.00 5,663.00	EA TONS SQYD SQFT EA EA LS LF LF LS CUYD	0.00 0.00 160.00 10.00 2.00 4.00 0.00 0.00 0.00	\$1.00 \$95.00 \$2.25 \$9.00 \$13.00 \$1,500.00 \$1,850.00 \$0.15 \$0.15	\$0. \$0. \$0. \$1,440. \$130. \$3,000. \$7,400. \$0. \$0. \$0. \$0. \$0. \$0. \$0.
	0001 0001 0001 0001 0001 0001 0001 000	0700 0710 0720 0730 0740 0750 0760 0770 0780 0790 0800 0810 0820	6123000A 6133020 6133021 6161005 6161025 6161098A 6162004 6181000 6206000C 6206001C 2022010 2031000 2035500	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR CONSTRUCTION SIGNS CHANNELIZER (TRIM LINE) CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED TEMPORARY SHORT-TERM RUMBLE STRIPS MOBILIZATION 4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS 4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS ate as of Report Generated Date REMOVAL OF IMPROVEMENTS CLASS A EXCAVATION EMBANKMENT IN PLACE	2.00 2,321.40 5,276.00 575.00 36.00 2.00 4.00 1.00 45,118.00 5,663.00	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00	2.00 2,321.40 5,276.00 575.00 36.00 2.00 4.00 1.00 45,118.00 5,663.00 1.00 3,872.00 237.00	EA TONS SQYD SQFT EA EA LS LF LF CUYD CUYD	0.00 0.00 160.00 10.00 2.00 4.00 0.00 0.00 0.00	\$1.00 \$95.00 \$2.25 \$9.00 \$13.00 \$1,500.00 \$1,850.00 \$0.15 \$0.15 \$1,500.00 \$5.20 \$32.50	\$0. \$0. \$1,440. \$130. \$3,000. \$7,400. \$0. \$0. \$11,970. \$0. \$0.
	0001 0001 0001 0001 0001 0001 0001 000	0700 0710 0720 0730 0740 0750 0760 0770 0780 0790 0810 0820 0830	6123000A 6133020 6133021 6161005 6161025 6161098A 6162004 6181000 6206000C 6206001C 2022010 2031000 2035500 2036000	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR CONSTRUCTION SIGNS CHANNELIZER (TRIM LINE) CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED TEMPORARY SHORT-TERM RUMBLE STRIPS MOBILIZATION 4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS 4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS ate as of Report Generated Date REMOVAL OF IMPROVEMENTS CLASS A EXCAVATION EMBANKMENT IN PLACE COMPACTING EMBANKMENT	2.00 2,321.40 5,276.00 575.00 36.00 2.00 4.00 1.00 45,118.00 5,663.00 1.00 3,872.00 237.00 2,978.00	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00	2.00 2,321.40 5,276.00 575.00 36.00 2.00 4.00 1.00 45,118.00 5,663.00 1.00 3,872.00 237.00 2,978.00	EA TONS SQYD SQFT EA EA LS LF LF CUYD CUYD	0.00 0.00 160.00 10.00 2.00 4.00 0.00 0.00 0.00 0.00 0.00	\$1.00 \$95.00 \$2.25 \$9.00 \$13.00 \$1,500.00 \$55,000.00 \$0.15 \$0.15 \$1,500.00 \$5.20 \$32.50 \$3.85	\$0.6 \$0.6 \$0.6 \$1,440.6 \$130.6 \$7,400.6 \$0.6 \$0.6 \$0.6 \$0.6 \$0.6 \$0.6 \$0.6

Revision 4/1/2020 Page 6 of 10



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
220121-A01	J1S3380	0001	0870	3105002	GRAVEL (A) OR CRUSHED STONE (B)	18.00	0.00	18.00	TONS	0.00	\$40.00	\$0.00
		0001	0880	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	826.00	0.00	826.00	TONS	0.00	\$103.00	\$0.00
		0001	0890	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	816.80	0.00	816.80	TONS	0.00	\$105.00	\$0.00
		0001	0900	4071005	TACK COAT	1,359.00	0.00	1,359.00	GAL	0.00	\$1.00	\$0.00
		0001	0910	6099902	MISC.GRID TIED MAT GROUND ANCHOR TYPE 1	0.00	\$48.00	\$0.00				
		0001	0920	6099902	MISC.GRID TIED MAT GROUND ANCHOR TYPE 2	647.00	0.00	647.00	EA	0.00	\$56.50	\$0.00
		0001	0930	6099903	MISC.GRID TIED MAT ANCHOR BLOCK	3,880.00	0.00	3,880.00	LF	0.00	\$36.50	\$0.00
		0001	0940	6119905	MISC.GRID TIED CONCRETE BLOCK MAT	6,525.00	0.00	6,525.00	SQYD	0.00	\$37.00	\$0.00
		0001	0950	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$1.00	\$0.00
		0001	0960	6161005	CONSTRUCTION SIGNS	1,046.00	0.00	1,046.00	SQFT	0.00	\$7.00	\$0.00
		0001	0970	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	0.00	\$45.00	\$0.00
		0001	0980	6161030	TYPE III MOVEABLE BARRICADE	\$145.00	\$0.00					
		0001	0990	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	0.00	\$1,500.00	\$0.00
		0001	1000	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	4.00	0.00	4.00	EA	0.00	\$1,850.00	\$0.00
		0001	1010	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$104,000.00	\$0.00
		0001	1020	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	2.00	0.00	2.00	EA	0.00	\$600.00	\$0.0
		0001	1030	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	9,360.00	0.00	9,360.00	LF	0.00	\$0.15	\$0.00
		0001	1040	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	5,616.00	0.00	5,616.00	LF	0.00	\$0.15	\$0.00
		0001	1050	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	400.00	0.00	400.00	SQYD	0.00	\$9.05	\$0.00
		0001	1060	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	6,525.00	0.00	6,525.00	SQYD	0.00	\$3.85	\$0.00
		0001	1070	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$5,750.00	\$0.00
		0001	1080	7250415	15 IN. PIPE GROUP C	25.00	0.00	25.00	LF	0.00	\$93.00	\$0.00
		0001	1090	7320036A	36 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	5.00	0.00	5.00	EA	0.00	\$1,900.00	\$0.00
		0001	1100	7320815A	15 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END SECTION	2.00	0.00	2.00	EA	0.00	\$435.00	\$0.00
		0001	1110	8051000A	SEEDING - COOL SEASON GRASSES	1.50	0.00	1.50	ACRE	0.00	\$3,160.00	\$0.00
		0001	1120	8061005	ROCK DITCH CHECK	80.00	0.00	80.00	LF	0.00	\$24.00	\$0.00
		0001	1130	8061016	SEDIMENT REMOVAL	47.00	0.00	47.00	CUYD	0.00	\$20.00	\$0.00
		0001	1140	8061019	SILT FENCE	3,880.00	0.00	3,880.00	LF	0.00	\$1.41	\$0.00
	Project J	1S3380 - To	otal Value	Posted to D	ate as of Report Generated Date							\$0.00
0121-A01 Ove	erall - Total	Value Pos	ted to Da	te as of Repo	ort Generated Date							\$899,673.9

Revision 4/1/2020 Page 7 of 10



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J1P3379

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	2013000	CLEARING AND GRUBBING	7/1/22	7/1/22	5.30	ACRE		230+00		290+00		Some clearing taking place along the south side of the road.
			7/11/22	7/15/22	0.80	ACRE		148+00		145+00		
			7/12/22	7/15/22	0.70	ACRE		60=00		50=00		
0020	2022010	REMOVAL OF IMPROVEMENTS	7/11/22	7/15/22	0.10	LS		222+34		236+00		Removal of the temporary bypass and 63" of pipe.
0030	2031000	CLASS A EXCAVATION	7/5/22	7/12/22	540.00	CUYD		229+00		290+00		Continued excavation along the east end of the project.
			7/11/22	7/15/22	1,650.00	CUYD		229+00		235+00		Excavation associated with RT 111 borrow
			7/12/22	7/15/22	555.00	CUYD		229+00		235+00		Excavation along the listed stations.
			7/13/22	7/15/22	1,140.00	CUYD		229+00		235+00		Excavation along listed stations.
			7/14/22	7/15/22	600.00	CUYD		229+00		230+00		Route 111 excavation
			7/15/22	7/18/22	1,650.00	CUYD		229+00		291+00		Continued excavation for Rt 111 borrow
0050	2036000	COMPACTING EMBANKMENT	7/11/22	7/15/22	1,237.50	CUYD		229+00		235+00		Compaction of excavated and moved material.
			7/12/22	7/15/22	416.50	CUYD		229+00		235+00		Compacting of moved material at listed stations.
			7/13/22	7/15/22	855.00	CUYD		229+00		235+00		Compacted of excavated material from listed stations.
			7/14/22	7/15/22	450.00	CUYD		229+00		230+00		Compaction associated with Route 111 excavation.
			7/15/22	7/18/22	1,237.00	CUYD		229+00		235+00		Compacting on rt 111
0800	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	7/5/22	7/12/22	82.00	SQYD		100+13		180+00		Rock base for route 111 from the RR tracks to the intersection at route 159.
0090	3105002	GRAVEL (A) OR CRUSHED STONE (B)	7/14/22	7/15/22	49.17	TONS		256+40		256+74		1"clean rock associated with culvert replacement.
0100	4011209	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	7/8/22	7/11/22	251.56	TONS		100+13		104+25		Asphalt paving, route 111, top lift, 4"
				7/11/22	504.91	TONS		224+50		235+49		Asphalt paving, route 159, top lift, 4"
0110	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BAS	7/6/22	7/12/22	98.81	TONS	Paving 1st lift BP1 in lieu of BASE on Rte 111 full width from STA100+13 to STA 101+10 and from STA 101+20 to STA 104+25		RT and LT of CL		RT and LT of CL	
				7/12/22	915.74	TONS	Herzog Paving 1st 5 1/4" lift BP1 in lieu of BASE on Rte 159 from Sta 224+50 to Sta 225+54 westbound lane Paving 1st 5 1/4" lift BP1 in lieu of BASE on Rte 159 from Sta 224+50 to Sta 225+49 Eastbound lane Pavid 1st 5 1/4" lift BP1 in lieu of Base on the radius from 159 to 111 Paving 1st lift BP1 in lieu of Base on the radius from 159 to 111 Paving 1st lift BP1 in lieu of BASE on Rte 111 full width from STA100+13 to STA 101+10 and from STA 101+20 to STA 104+20	224+50	RT and LT of CL	235+49	RT and LT of CL	
0120	4071005	TACK COAT	7/6/22	7/12/22	12.00	GAL	Rte. 111 North of the RR tracks and south of the RR tracks to Rte 159					
			7/8/22	7/11/22	156.00	GAL		216+34		235+00		Tack used for asphalt application on routes 111 and 158 (See asphalt postings for exact stationing.)
0330	6181000	MOBILIZATION	7/15/22	7/18/22	0.25	LS		0		0		Contractor has achieved 5% of the contract total.
0470	7250336A	36 IN. PIPE CULVERT GROUP B	7/14/22	7/15/22	33.00	LF		256+40		256+73		Culvert replacement at the listed station.
			7/15/22	7/18/22	45.00	LF		272+55		273+00		New pipe installed at the last station.
0540	7320836A	36 IN. GROUP C FLARED END SEC	7/14/22	7/15/22	2.00	EA		256+40		256+74		Flared end for culvert replacement at the listed station.
			7/15/22	7/18/22	2.00	EA		272+55		273+00		FES for installed pipe at the listed station.
0620	8061019	SILT FENCE	7/13/22	7/15/22	7,824.00	LF		216+00		89+00		Silt fence installed on the north side of the road on the western end of the project.

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 4/1/2020 Page 8 of 10



Line Item Adjustments by Estimate

Contract ID:190215-D05

oject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
23379	0030	CLASS A EXCAVATION	Price FUEL		1	Jun 2, 2022	SYSTEM	\$216.00	Reference Item Price Adjustment Index Adjustment Type applied is FUEL	
					2	Jun 16, 2022	SYSTEM	\$1,367.86	Reference Item Price Adjustment Index Adjustment Type applied is FUEL	
					3	Jul 1, 2022	SYSTEM	\$4,229.02	Reference Item Price Adjustment Index Adjustment Type applied is FUEL	
					4	Jul 18, 2022	SYSTEM	\$2,208.60	Reference Item Price Adjustment Index Adjustment Type applied is FUEL	
				- Total				\$8,021.48		
			Price FUEL - T	otal				\$8,021.48		
	0030 -	Total						\$8,021.48		
	0050	COMPACTING EMBANKMENT	Material		3	Jul 1, 2022	SYSTEM	(\$28,270.65)		
				- Total				(\$28,270.65)		
			Material - Tota	1				(\$28,270.65)		
			MaterialCredit		4	Jul 19, 2022	SYSTEM	\$28,270.65		
				- Total				\$28,270.65		
			MaterialCredit	- Total				\$28,270.65		
	0050 -	Total						\$0.00		
	0800	TYPE 1 AGGREGATE	Material		3	Jul 1, 2022	SYSTEM	(\$43,288.00)		
		FOR BASE (4 IN. THICK)			4	Jul 19, 2022	SYSTEM	(\$44,436.00)		
				- Total				(\$87,724.00)		
			Material - Tota	l				(\$87,724.00)		
				MaterialCredit		4	Jul 19, 2022	SYSTEM	\$43,288.00	
				- Total				\$43,288.00		
			MaterialCredit	- Total				\$43,288.00		
			Price FUEL		3	Jul 1, 2022	SYSTEM	\$1,131.67	Reference Item Price Adjustment Index Adjustment Type applied is FUEL	
					4	Jul 18, 2022	SYSTEM	\$22.14	Reference Item Price Adjustment Index Adjustment Type applied is FUEL	
				- Total				\$1,153.81		
			Price FUEL - T	otal				\$1,153.81		
	0080 -	Total						(\$43,282.19)		
	0100	BIT. PAVEMENT MIXTURE	Other Item Adjustment	ACAD	4	Jul 18, 2022	veerj1	\$6,161.45	Current index Base index Index Diff Line No QTY Virgin AC Mix ID Adj	
		PG64-22 (BP-1)							728.75 502.5 226.25 0100 756.47 3.60% BP1 21-1 6161.45	
				ACAD - Tota				\$6,161.45		
			Other Item Ad	ustment - To	tal			\$6,161.45		
			Price FUEL		4	Jul 18, 2022	SYSTEM	\$4,520.66	Reference Item Price Adjustment Index Adjustment Type applied is FUEL	
				- Total				\$4,520.66		
			Price FUEL - T	otal				\$4,520.66		
	0100 -	Total						\$10,682.11		
	0110	BITUMINOUS PAVEMENT MIXTURE	Other Item Adjustment	ACAD	4	Jul 18, 2022	veerj1	\$8,263.51	Current index Base index Index Diff Line No QTY Virgin AC Mix ID Adj	
		PG64-22 (BAS						40.44	728.75 502.5 226.25 0100 1014.55 3.60% BP1 21-1 8263.51	
				ACAD - Tota				\$8,263.51		
			Other Item Ad	ustment - To				\$8,263.51		
			Price FUEL		4	Jul 18, 2022	SYSTEM	\$6,062.15	Reference Item Price Adjustment Index Adjustment Type applied is FUEL	
				- Total				\$6,062.15		

Jul 21, 2022



Line Item Adjustments by Estimate

Contract ID:190215-D05

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J1P3379	0110	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BAS	IT EE					\$6,062.15	
	0110 - Total							\$14,325.66	
	0370	TEMPORARY REMOVABLE MARKING TAPE 4 IN.,	Material		2	Jun 16, 2022	SYSTEM	(\$322.50)	
					3	Jul 1, 2022	SYSTEM	(\$322.50)	
				- Total				(\$645.00)	
			Material - Total				(\$645.00)		
			MaterialCredit		3	Jul 1, 2022	SYSTEM	\$322.50	
					4	Jul 19, 2022	SYSTEM	\$322.50	
				- Total				\$645.00	
			MaterialCredit - Total					\$645.00	
	0370 - Total							\$0.00	
	0380	TEMPORARY REMOVABLE MARKING TAPE	Material		2	Jun 16, 2022	SYSTEM	(\$3,526.00)	
					3	Jul 1, 2022	SYSTEM	(\$3,526.00)	
				- Total				(\$7,052.00)	
			Material - Total					(\$7,052.00)	
			MaterialCredit		3	Jul 1, 2022	SYSTEM	\$3,526.00	
					4	Jul 19, 2022	SYSTEM	\$3,526.00	
				- Total				\$7,052.00	
			MaterialCredit - Total					\$7,052.00	
	0380 - Total							\$0.00	
	0620	SILT FENCE	Material		1	Jun 2, 2022	SYSTEM	(\$6,747.99)	
					2	Jun 16, 2022	SYSTEM	(\$6,747.99)	
				- Total				(\$13,495.98)	
			Material - Tota	ı				(\$13,495.98)	
			MaterialCredit		2	Jun 16, 2022	SYSTEM	\$6,747.99	
					3	Jul 1, 2022	SYSTEM	\$6,747.99	
			- Total					\$13,495.98	
			MaterialCredit	- Total				\$13,495.98	
0620 - Total							\$0.00		
J1P3379	J1P3379 - Total								
Overall -	Overall - Total							(\$10,252.94)	